
pT bin [GeV] σ/σSM scaling
97 < pT < 133 1 + 0.001 cG − 0.001 c(3,1)

qq

133 < pT < 174 1 + 0.002 cG − 0.001 c(1,8)
qq − 0.003 c(3,1)

qq

174 < pT < 220 1+ 0.004 cG − 0.001 c(8)qd − 0.002 c(1,1)
qq − 0.003 c(1,8)

qq − 0.007 c(3,1)
qq − 0.001 c(8)qu −

0.001 c(1)uu

220 < pT < 272 1− 0.001 c(1)dd + 0.007 cG − 0.002 c(8)qd − 0.004 c(1,1)
qq − 0.005 c(1,8)

qq − 0.013 c(3,1)
qq −

0.003 c(8)qu + 0.002 c(1)ud − 0.001 c(8)ud − 0.002 c(1)uu − 0.001 c(8)uu

272 < pT < 330 1 − 0.002 c(1)dd − 0.002 c(8)dd + 0.011 cG − 0.004 c(8)qd − 0.007 c(1,1)
qq − 0.010 c(1,8)

qq −
0.025 c(3,1)

qq − 0.005 c(8)qu + 0.003 c(1)ud − 0.002 c(8)ud − 0.005 c(1)uu − 0.002 c(8)uu

330 < pT < 395 1 − 0.004 c(1)dd − 0.003 c(8)dd + 0.017 cG − 0.007 c(8)qd − 0.014 c(1,1)
qq − 0.017 c(1,8)

qq −
0.048 c(3,1)

qq − 0.001 c(3,8)
qq − 0.008 c(8)qu + 0.006 c(1)ud − 0.004 c(8)ud − 0.009 c(1)uu −

0.004 c(8)uu

395 < pT < 468 1 − 0.007 c(1)dd − 0.004 c(8)dd + 0.023 cG − 0.011 c(8)qd − 0.025 c(1,1)
qq − 0.030 c(1,8)

qq −
0.086 c(3,1)

qq − 0.001 c(3,8)
qq − 0.014 c(8)qu + 0.010 c(1)ud − 0.007 c(8)ud − 0.017 c(1)uu −

0.007 c(8)uu

468 < pT < 548 1 − 0.012 c(1)dd − 0.006 c(8)dd + 0.035 cG − 0.017 c(8)qd − 0.044 c(1,1)
qq − 0.051 c(1,8)

qq −
0.151 c(3,1)

qq − 0.001 c(3,8)
qq − 0.001 c(1)qu − 0.022 c(8)qu + 0.017 c(1)ud − 0.012 c(8)ud −

0.030 c(1)uu − 0.012 c(8)uu

548 < pT < 638 1 − 0.019 c(1)dd − 0.010 c(8)dd + 0.046 cG − 0.026 c(8)qd − 0.076 c(1,1)
qq − 0.085 c(1,8)

qq −
0.257 c(3,1)

qq − 0.002 c(3,8)
qq − 0.002 c(1)qu − 0.035 c(8)qu + 0.028 c(1)ud − 0.020 c(8)ud −

0.055 c(1)uu − 0.022 c(8)uu

638 < pT < 737 1 − 0.030 c(1)dd − 0.015 c(8)dd + 0.064 cG − 0.040 c(8)qd − 0.129 c(1,1)
qq − 0.139 c(1,8)

qq −
0.431 c(3,1)

qq − 0.002 c(3,8)
qq − 0.003 c(1)qu − 0.055 c(8)qu + 0.046 c(1)ud − 0.033 c(8)ud −

0.096 c(1)uu − 0.037 c(8)uu

737 < pT < 846 1 − 0.044 c(1)dd − 0.023 c(8)dd + 0.079 cG − 0.058 c(8)qd − 0.217 c(1,1)
qq − 0.228 c(1,8)

qq −
0.720 c(3,1)

qq − 0.004 c(1)qu − 0.085 c(8)qu + 0.076 c(1)ud − 0.052 c(8)ud − 0.165 c(1)uu −
0.062 c(8)uu

846 < pT < 967 1 − 0.071 c(1)dd − 0.034 c(8)dd + 0.106 cG − 0.085 c(8)qd − 0.361 c(1,1)
qq − 0.363 c(1,8)

qq −
1.167 c(3,1)

qq − 0.005 c(1)qu − 0.128 c(8)qu + 0.120 c(1)ud − 0.082 c(8)ud − 0.277 c(1)uu −
0.102 c(8)uu


